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srAleart & forw @&/ Instructions to candidates

1. el Scaq A G T & qF R gREaet vd TR 3o IiEdsr 7 v
e el @ CAEYds gl
Candidates should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.

& ﬁmﬁmmmﬁaﬁmwﬁwwmﬁ@ﬁqﬁﬁé?m
CEIRICIE I If ey A F Trerd SN gfase N § A7 ok o FAR faare
*mﬁmmﬂﬁ%ﬁmmﬁﬁaml You have been

called for the written test based on the data furnished by you in the on-line application.
If you have wrongly entered information in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected.

3. 3 gl aer & e 9 3TRUfy F (W @Y TT) g 9F WO EEdER
You should sign the Call Letter (pasted with photograph) only in the presence of the

invigilator in the Examination Hall.
A, G-I 100 oAl ATl Ueh ReA-OfEae §1 Tl o 3ccl &1 F f U e
NI e 3uasy s 5 2l

The question paper is in the form of Question Booklet with 100 guestions. A separate
OMR sheet is provided for answering the Questions.

5. U 3eaY A AE T F AT NTAFR e W s w & e A b
Ufge et (@l AT aftem) & § W S|
Use only Ball Point Pen (Black or Blue) for writing/ shading on OMR sheet and marking
your answers.

6. TR F N qE Py R i Rear g et YR Wl g (WAEE) STHANR
ofic & afeg o formen 3R a9er e Hioward &1 VT F F O, SecRq e @
Sira STgr v e
Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is

mandatory to be written on the OMR sheet in the box and bubble appropriately, failing
which the answer sheet will not be evaluated.
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7.

8.

10.

11.

12.

13.

14.

15.

16.

3R e & 3gar 717 3R A Jav Sk F ford|

Enter your Name and Roll Number correctly in the OMR answer sheet.

ffad odeT g & fov RuiRa dewar & 3UR W AR 3ol & @Y aEres
TRk Y 2l i & dael Ue 3cal HfeTer §9 & Wel gl

The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.

T Feak g & U aw et & 3R NTANR el uHs # FEfOd AT
T I 8- §U Wl Sec & T FR

You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet.

YT TE Icak & UF 3F & TAd 3cal W 0.25 3T HA fRAT SIwer 3R 3ea) o

& T YT IF B
Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point
twenty five (-0.25) for a wrong answer.

R off w27 & T &8 [l F1 MR W 3ca] ITaid ATAT S|

Multiple answers for a question will be regarded as a wrong answer.

AR e & eaeqds ford | HfaRed uasR ehe yerer et 6 s
Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.
G oiam gl & 3faX HCYC, hefpele, AGTge I 3R 3= goFeias
3TN, 6T Y, Aed 3nfe;, eet &1 3regAfeT wgt & ST

Computers, Calculators, mobile phones, reference hooks, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

ST B OY WQAYT A 3T T &7 YAeT 16 F & fov R S "ehdr §
w8 fafea e agr & smeel)

Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.

ofietr gt gt ), (1) qﬁﬁmgﬂfﬁf@aqﬁwwww(z) MTHAINR Il
o3 A oY o el Red @ 3enT & o AR A IHNTANR Sear T Al
e & 3T goclke afY SRy @er S wed &

On completion of the test, (1) Hand Over Written Test Call Letters with photograph
pasted on it (2) tear the OMR answer sheet along the perforation mark at the top and

hand over the original OMR answer sheet to the invigilator and retain the duplicate
copy with you

sficart @ uliel & gger 6 & et oieT giel Olga I AT el §
Candidates are not permitted to leave the Examination Hall during the first one hour of

the examination.
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MRy 91 W, Wihe &1 uifvar ufdga. .. ... .. BT 81/As the frequency increases, the
capacitive reactance of the circuit

a) dedl Decreases

b) Ycdl Increases

¢) HHE Remains same

d) dedl B aur BRI fARER I8AT 8 Increase and then remains constant

fdi aifera o, wiga® RUas. ... / Inanoscillator, the feedback signal is
a) g1qe Ryurel & WY 59 ol In Phase with the input signal

b) 3{13eye e & WY 39 W In Phase with the output signal

c) gYe Rwred & |1y $13¢ 3% BW Out of phase with the input signal

d) I9Yad # ¥ @13 78! None of the above

JrETIagT dIeRseh ¥ Iuds e Rura, ... .. 3 BT §1 The calibration signal, usually
available from a CRO is of the

a) g T dledl Sine wave voltage

b) TTHR T dleedl Square wave voltage

c) 1 ¢ 8 dleedl Saw tooth wave voltage

d) EIf dreedt De vollage

gfe 1 30 uF Guilal &) f@e d Ser e arl, Fad simaad g8m-/ If three 30 pF capacitors are
connected in series, the net capacitance is-
(a)10 pF b) 60 uF ¢) 90 pF d) 1/30 pF

e gfbe d, A gldig- / Inaseries circuit, the current is
a) fafis ufeRie®! © gy Different in different resistors

b) gfeRy & SUIfd@ Proportional to the resistance

c) YA Constant

d) WW% Varies

Ue goldeiay /gafdeda dfthe 7 dlced Ud ®ic & s & Bl .. .. ... FHEA 81 / In an
electronics/electrical circuit the angle between voltage and current is called

(a) BT Hhaex Form factor b) TR thaex Power factor
¢) e haer Peak tactor d) Wl 3R Phase difference

w3 @ faraaer Juai gaiaeie Afde @ ufthy ged & =9 o 91 ST 81 Which of the following

is used as an active component in electronic circuit?

a) Ejﬁﬂw Transistor b) uftRIY®E Resistor

¢) dYIRa Capacitor d) TR Inductor
TS o e Jlve ofds 713 3 S3ege &, Said 39d a1 g4Ye Fugag. .. ... .. wHATl
21 A logic gate circuit that outputs a HIGH only when both of its inputs are low

a) R OR b) U8 AND

c¢) g NAND d) FR NOR
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9. wuag 1 i g- / ALU Stands for

a) Auto Latch up circuit b) Audio Loud Upsclaing circuit
¢) Arithmatic Logic unit d) None of the above
10. U UTTHD TAHH .o ¥ =0 % Hr BT Wbl 81 An operational amplifier
can function as a
a) @R Comparator b) @il Oscillator
¢) vadd Amplifier d)  Swdad @l All of the above

11, At siftng ¥ uge ergumd &~ / The aspect ratio in a TV receiver is
a) 3:2 b) 4:2 c) 43 d) 3:1

12. ﬁ%’dﬁ%ﬂﬁ / ldentify the Symbol
A (a)ﬂﬁﬂﬂ'ﬁ' Hot surface (b) HIA EES ¢d Hand tools

ol
m (c) 2R 88 Hammer Hand (d) Sugst ESD

13 g & @ Rrge! SuahT Wkl 3 TRIdqyd @i &) A & for fbun S 82/ Which of the

followmg is used for the measurement of dielectric loss of capacitance?
) U3 foisT Anderson bridge b) WUl fsiel Schering bridge
c) 2 fS Hay bridge d) Hegad fos Maxwell bridge

14,06 10 V DC Hid®l 5 3g UfRite Td 0.1 pF et Bt g @SS o W R fRufa | widhe
F1 F¥e fpaar g2/ A 10 V DC source is connected to a series combination of 5 ohm resistor

and 0.1 uF capacitor.
What will be the current through the circuit under steady state?
a) 2A by 10A c) TA d) 0A

15.wwﬁaqﬁﬁaﬁﬁuﬁﬁuéwwﬁsﬂaw% At ygad ufeRly -/ When a
low resistance is connected in parallel with a high resistance. the combined resistance is-
a) R I iRy 2@ Always more than the high resistance
b) R AE gfeRiy 8 HH Always less than the low resistance
c) g 3= wlorly ud Ay ufeRly & o= & Always between the high resistance &

low resistance
d) = ufRr & e & SR W P ufRly @ dt &1 3@ I Either lower or

higher than low resistance depending on the value of high resistance

16. 0% Gl ARA ¥, ARF B @RI T SE WS grfll In an LC
oscillator, the frequency of Oscillatoris s 8 6

a) d PR b &ﬂﬁq@ﬁ‘? Plopmtmmi s sqmte of
b} TH&: WDIILCU) proportional to

HTTHET %W@ﬁﬂ Inversely proportional to square root of

d) &l ¥ W@ Independent of the values of
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17. A& St o weidl w1 dd 11 8-/ The function of AGC in radio receiver is
a) e Ryd @l &H &A1 To attenuate the input signal
b) §7Ye R &1 g1 To amplify the input signal
¢) ure Rywer fdk ¥ IAR-9e1d B aR7aR B To compensate for the fluctuations
in the received signal strength
d) ured e 7 X9 @) &9 &1 To reduce noise in the received signal

18, i et &1 uats gfde o ... & foro g faar sirdn %I / Coupling capacitors are used
in amplifier circuits to

a) TH gER &I yuifad e 3 cifvrex & vged & & o oot ud €Rf dieedr @t
3t
Allow AC and DC voltages to be applied to the transistor without affecting
each other

b) §7Ye Ud 3r3eyc THt Rl & &9 BT 9@ Increase coupling between the
input and output AC signals

¢) TIfoRER & 99 Td detde’ BT $H1 e Couple the base and collector currents
of the transistor

d) N diced af®l @1 g Increase the DC voltage gain

19. A% dg-ury fthee 1 defdvarR ggarg, - / Ifthe bandwidthofa band-pass filter increases:
a) Qycdl (] (Q decreases
b) d-3M% g3 Foc 2 the roll-off rate increases
) oel-wfaa egfr w1 gl @ the half-power frequency decreases
d) &% Mgy & I § the centre frequency decreases

20.  9.8.12 SITRITAR- / LCM of 9. 8, 12 is
a) 72 b) 864 ¢) 144 d) 288

2. T 9 5 g A 200 M &l gl qu ol 81 it sy wam iy Agadt @, dlgpa 320 fpdt
o Tu B & fere fasan iR sifiras g @
A bus covered a distance of 200 km in 5 hour. If the bus travels with a uniform speed. how much
more time required to travel a total distance of 320 km?
a) 8 ©< hours by 3 °¢ hours
¢) 54e hours d) 19eT hour

g2 kud1 k FaFRR- Wi ufoRiu® &1 Fd B 3 mA ﬁﬁ?@ﬂ?{%ﬁﬁ%ﬂ?ﬁﬁ?

What is the total power loss 1 2 k and | k parallel-connected resistors have a total current of 3

Q]
S

mA"’
a) 6 W b) 36W c) 6omWwW d) 36 MW
23. Ueh | kohm UfRIY® 20 df. e & Ty el U J ST g & a1 2l erg e g

A 1 kohm resistor is directly connected across 20 'V battery. What is the power dissipation?
(a) 0.4 ATW (b) 20 @Tw (c) 5091 W (d) 20 fpar kw
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24, Tfde # oo URRIY AR UARUS S WA ... . afy g AudH G sl What
happens to total resistance in a circuit with parallel resistors if one of them opens?
(a) F¢T / increases (b) ¥ell / decreases

(c)ﬁf s Agl 98 / remains the same (d) 7t 38 SR/ fuse blows up
25. 99 giud H 3 e WA ¥ o@dud wEiR ¥ @ g @ F wed s Wi e

B 2 / When parallel resistors are of three different values. which have the greatest power
dissipation ?
(a) o B O & 3@ud T/ smallest value resistor
(b) Ued €8 AF & HIUYD o / largest value resistor
(©) gff srave § gaE wfdd e gN 7 all resistors have same power dissipation
(d) diecs Tt Ay P W HAWH / voltage-and resistor values are required

58, IODER, . . o sh§sEREETES T, FEIREA S 100°Cequalto _ °F.
a. (a)212 (b) 202 (c) 100 (d) 50

27. GYHcd AP 84 BT franurt ®HieG 8- / Binary equivalent of decimal number 84 is

(a) 10010100 (b) 00100100 (c) 01100100 (d) 01010100
28, gl I f@Ri® ‘k’ @ A 8- / Value of Boltzmann constant 'k’ is
(2)1.38 x 1077 I/ K (b) 1.38 x 107" I/K
(c) 1.38 x 102 J/K (A3 1.38x10°9 )y K
29, gaaH & A “q’ B HA 2 / The value of charge *q" of an electron is given by

(@) 1.67x10"° C  (b) 1.97x 10" C  (c) 16.7x 10° ¢ (d) 6.67x 107" C

30, o2 T SERUE W 4 UgE B AT de. TR o qur geY 8, A Sl " e
g g 2 Resistor whose Four colour-code stripes are Yellow, Violet. Red and Gold will

have a value (in ohm) of
(a) 3700 + 5% (b) 3700 + 10% (c) 4700 + 5% (d) 4700 + 10%

31, ofghH N @ 100pF & 3 HHIRA a1 yurdt denfear feaet 8 2/ The total capacitance of
3 capacitors of 100 pF in series is
(a) 33.3 pF (b) 50 pF (¢) 100 pF (d) 300 pF

1 TV ¥ difed TR § @ @ UeR b1 Hiegawd Sudi gl 82 Which type of

modulation is used for TV video transmission?
(a) AM (b) PM (c) FM (d) VSB-AM

33, 38 Qree-ulle & & ford Jugad 9 Jég & / Recommended time for
making solder jointis ____ second.
(a) 4 to 8 (bhylto3 () 10to 15 (d)2to5
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34.Sn63/Pb37 Wiwex & fUues @1 dudE _ °C @l / The melting point of Sn 63 / Pb 37
solderis  °C.

(a) 183 (b) 150 (c) 220 (d) 250

35, og R Swesd a7 # Wi g g o diode is operated in the
reverse breakdown region.
(a) LED (b) Photodiode (c) Zener (d) Rectifier

36. U 250 dic & AU $) 250 diee T F g W yaifd fagygd-ware B/

Lamp of 250 W is connected to 250 V AC supply. Then the current passing through lamp is

(a) 1 mA (b) 10 mA (¢) 100 mA (d) 1000 mA
3l gd R = f5. dfe. / 1 Horse Power = KW
(a) 0.746 (b) 1 @y 1.3 (d) 0.707

38, X1 @1 g9fdl 8 / The symbol XL represents
(a) dlddhed / Conductance (b) IRfre ufedwrd / Inductive reactance
(c) YR _ufeard / Capacitive reactance  (d) A / Resistance

39. SHIHleY |1 |Udar @ 2/ Tachometer is used to measure -
(a)Tfd /Speed (b) ‘quf 7fd /Rotational speed
(¢) cdld /Pressure (d)ﬁqﬁmﬂ?{ / Viscosity

40, fefrea medhdler A REEI 89 &1 Sudn far @11 8 / In digital multimeters,
what is used for display purpose?
(a)ed fohed UeRH-9cd,/ Liquid crystal display (b) TSR IJSie UGRM-°ed Laser Emitting
display
(¢ ) dR-Telt Jafd =Telt Wire mesh tube (d) FUrs-afea fFu Cathode ray tube

41 gfe YAy &1 TR 96.7 MHz W P WiEI e df SUe! avrew @y fbal giilz/ Ifa

radio station is broadcasting at 96.7 MHz. then the wave length is approximately

(a) 310 YeHET centimetres (b) 3.1 HeX meters
(¢) 310 meters (d) 3.1 frardiex kilometre
42, ufaRer Ry @ T BIFSU I Calculate the value of Regr.
e s D
4 R1
Relf R2 R3

)

RI=20Q  R2=40Q  R3-40Q
(a) 16Q (b) 400 (c) 1000 (d) 40

43. 0% AC ooy # 3id wfes &1 E\H%—— / The average power in a AC circuit is given by -
(a) V*I (b) V#[*tan @ (¢) V*I*cos @ (d) V¥I[*sin @
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44, @@ argfd & W 8- / Audio frequency range is
(a) 20 Hz to 20 KHz (b) 20 Hzto 3.1 KHz

(c) 91.0 - 98.3 MHz (d) 0-55MHz

45.Fg & 9 @ siPlg-deia! T¥ O g/ Which of the logic is fastest?

(a) RTL (b)y ECL fey TIL (d) DTL
46. VHF @t 3mafd WHT / The frequency range of VHF is__
(a)30 KHz -3 MHz (b) 3 MHz — 30 MHz

(c)30 MHz - 300 MHz (d) 300 MHz — 3.0 GHz

47. UHF &1 agfd g~ / The frequency range of UHF is
(a)30 KHz -3 MHz (b) 30 MHz — 30 MHz
(c) 30 MHz - 300 MHz (d) 300 MHz — 3.0 GHz

48.PCBWaﬁmﬂ?&ﬁ@@ﬁ@%ﬁﬁﬂ%ﬁﬁﬁmaﬂﬂﬂf_Tmm%ﬁ

/ While soldering components on a PCB, tip of a soldering iron should be maintained at ___
ki
(a) 150 to 200 (b) 170 to 190 (c) 240 to 280 (d) 300 to 330

49. PCB TR @firje dice-og &) 8¢ Ugd gl =Y / While soldering

components ona PCB, __ should be first removed.

(a) TIeg arN Solder wire (b) Aeg? 3183 Solder iron
(c) TesT arR Ud WreafoT amge el (dydididt PCB

Both solder wire & soldering iron

50. @ A vt dieew uRadd & fow &1 Iugn fbar omr 8./ s used
to transform DC voltage to AC voltage.
(a) gg¢? Inverter (b) &-9¢¥ Converter
(c) gdigg UPS (d) YFTHIT Rectifier

s, A, g, e, WWH@WW?@%WWEWW— Resistor has four color bands

with colors orange, green, blue, brown its value 1s

(a)350 M ohm , 0%  (b) 35 M ohms 1 % (c) 350 Mohm 1% (d)35M ohm 0 %
T T —— W fuadr 81 The solder is melted
(a)HIee T oMmgRA feu q¥ on the soldering iron tip (b) fiHfieh 8 U on the PCB pad

(c) wigi feu wd OIS fierd & where the tip & the part meet (d) Gregz are d In solder pot.

53 gRATATARAN 5 Do fREd L R A e
Pin No. of TO — 5 package IC increases inthe “direction when viewed from top.
(a)‘ﬂ?‘_‘;p[ @) fean # Clock wise (b) &l ! faudld feen 7 Anti clock wise

(c) forel) oft gHT 3fR either of side same (d'}é:fﬁ U I3 78I None of these.
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57.

60.

61

62.

Sd.yade d &1 YA I g1 / __isusedin Amplifier. -
(2)f&38 Diode (b) CifSrex Transistor
(c) YHTBRR Rectifier (d) <A Triac
Rw@dewnt UR <! o Wahdll g | Signal waveform can be seen on

(a) SIRIARDIY Oscilloscope (b) 3MGRI BIIR Freq. counter

(c) HedTHer Multimeter (d) a1 T8t & Favdl Can not be seen
................. gl lrfier 71 - is the DC parameter.

(a)ﬂ%@??ﬂ Impedance (b) TfeRIY Resistance

(¢) W& inductance (d) 390 ¥ P1E T8l None of these.

TR S Y 150 oSl & M Ufklerei v ot ... ... ... ... BT / The total value

of three resistors of 150 ohms connected in parallel is _ ohms

(a)l00 (b) 75 (c) 450 (d) 50

TRl R el gudt R fielt, ol o sreft wd el R e At wfRer @1 9 3 @R

Iind the value of a resistor having first ring green. second ring blue , third ring orange and
fourth ring silveris

(a)560 K ohm £5%(b) 56 K ohm £10 %  (c) 56 M ohms 1 % (d) 56K M ohm +5 %

RS A, I, A vd G A URR S HTAA. L GBI The value of resistor having
color bend red, red, orange and gold is

(a)22 ohm +1 % (b)22Kohm£5%  (¢)22 M Ohm 1 % (d) 22 ohms +20 %

AR B GG A, WRT, GG U Riear a1d U URRIYS BTAFTENI- /A resistor has four
color bands with colors Red, Brown, gold and Silver. Its value is o

()21 K ohm +10% (b) 2.1 ohm 41 % (c) 2.1 ohm +10% (d) 2.1 kohm £10 %

Sn 62/Pb36/Ag2 HITeR &1 YeHid farg ... .. .. °¥. 8- / The mlelting point of Sn
62/Pb36/Ag2 solderis  °C.

(a)l73 (b) 179 (e} T75 (d)173.4

] I 0¥. bR FAEI 86 T is equalto ~ °C,
(a) 30 (h) 60 (c) 20 (d) 86
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63, e A ra BT T BT . .. oo 0T ¥ fara STdr 81 The basic reason for

using flux in soldering is for better __ -

(a) TS DI ufefcet & fo Brightness of solder (b) TS CARECG] % fo1U strength of solder

(c) dga Hieed & iU Better solderability (d) BN Ty & AU for better contact

64.10 Pin TO — 5 Gabol SR W e ... ... ¥y SR &1/ Tabon 10 Pin TO - 5 packages 1C
indicates Pin No. __
(a)l (b) 8 (c)5 (d) 10

65. 10 pF i &1 20 pwmﬁaasw:rmen%aﬁmmﬁ@mﬁa .............. wF g/
A 10 uF capacitor is connected in parallel with 20 pF capacitor. the effective capacitance is __pF
(a) 30 (b)200 (¢) 6.66 (d)2

66.1;@%150;1Falﬁa¥iwﬁa‘fﬁ%mﬁﬁéaﬁmwraﬁwﬁam ............ WF gl

Two capacitors of 150 pk each, are connected in series their effective capacitance valueis  pl.

(a) 50 (b) 75 (c) 300 (d) 150

67. U | MQ 3 TR TRRIET &) TR SIS o TR ST THT vferdler A1 2T-
Four resistance of 1 MQ each are connected in parallel, Their effective resistance value is .

(@250 MQ  (b)250KQ ()4 MQ () 1 KQ

68, Feirs fRb0r e T dH ¥e B URAION S TTA IR oo S gt fan o
A ¢ |
The magnitude of the beam current in cathode ray tube can beadjusted by ___ on

front panel.

()@ /deedT AT Tube/voltage control (b) fopermife  die FgAur Filament/ Current control
(c) THa /¥R 8= Time/ Spacing control (d) afest /g g Wattage/ Time control

69.(01001001)2=(___ )10
(a) 37 (b) 73 (c) 63 (d) 93

70. 83K 5% eI U R u%ﬁmaﬂ?aﬂg%f /Color code for 83K € 5% tolerance Resistance 18

(a)  Tipe A ol Td Riear White Orange Red & Silver

(b) & Arft AR Ud EAeW Green Orange Orange & Gold
(c) &, AR, R T GIRA Grey, Orange, Orange & Gold
(d) R A g e Grey Orange Red & Gold




71.

72.

13,

74.

15,

76.

77.

78.

Al w%e, B, YIeN SeR ae URUS SR IS HTAF &+ %T

Resistor color bands with colors Orange. white, green, golden its valueis & %.

(a)3900000 4195000 (b) 3800000 190000
(¢) 3905000 295000 (d) 3700000 395000

TIRIIUG HIIE . .. ... gIdT 81 / The purpose of communication Satellite is

(a) @I, TFEREAU Forestry, Mapping (b) HHfeA®dl Cartography
(c) @HST, od §9IY9 Minerals, water resources (d) A, eller e TV,

Telephone link

TR AT, MGRT U R oaE & dld GaU g~/ Relationship between light velocity Lfrequency

and wave length is

(a) F=Distance/Time (b) C=Medium / A
(c) F=C/A (d) C=F/ A
3T Hogel UdHe & ThnT. L. 329 & forw faeur Sim €1/ Common collector
amplifierisusedfor ~~~ purpose.
(a)dTecal A Voltage Gain (b) 3= Wfad @fsd High Power Gain
(c) BT af@l Current Gain (d) yatd Amplifier
e T R R AR BT HIER. ..o ie e e & foru fpar ST 81/ A coat

of solder is left on the soldering iron tip in order to___
(a) 3 P SRl &1 Wilg & o Check working of Iron
(b) 7H DRUGICEIY T Maintain wet ability
(¢) Zafdedre MITRAT &I TWH To maintain electrical continuity
(d) TeER HEAT §41E T@ To maintain solder quantity

it 1 3 8-/ IPA stands for -
(a) Iso Propyl Alcohol (b) Isotropic Poly Acetone
(¢) Iso centric Poly Alcohol (d) Isometric Propyl Acetone
THIY HIA BT WM. ... ufhe o fdar Sar 31 Coaxial cable is used in
~cireuts.
(a)s'aﬁa Internet (b) siored R Digital signal
(c)gafdedd &ITEjjﬁ Electrical supply (d)3f U/ Mghidd R.F./Microwave
rdt v 7 srftr@eror wfdanem (20 ) FRUAM. ... ohm %! Value for
Characteristic impedance (Z0 ) in TV antennais_ ohm
(a)75 (b) 30 (¢)33 (d) 150
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79, wq &) T @ ud W e f o o €, o oot oIRkaT Clotal = i/ When two

capacitors C1 & C2 connected in series then total capacitance Ctotal =

(@) C1+C2/ Cl.C2  (b)CLCAUCI+C2  (¢)Cl+C2 (d)CL.C2

80. 1.0 Hiex=_ IR 1.0 Meter = Micrometer.
(2)100 (b) 1000 (¢) 1000000  (d) 1073
81.5x 106 3@ = _ fopal offgT 5 x 106 ohms = ~ Kilo ohms

(2)500 (b) 50000 (c) 5000 (d) 500000

82, TUr I g Pl 3Mafie- / The Frequency of FM radio band is
(2)200 to 298 MHz ~ (b) 93.5 to 122 MHz (¢)51 10 98.3MHz  (d) 87.5 to 108 MHz

83, MARTATON . o oveee e e TSR P YadIBrR gide g1 / Mobile Charger is a kind of
_rectifier circuit.

(2)3T4T I Half wave (b)8R Solar (c)guf @ Full Wave (d) U@ ¥ Pulse Wave

84 gafdepa Bfdd®dl ... ... mar S gl / Electrical Power is measured

(a)d «edl Voltage (b) @l Watt (c) TR Ampere (d) St db

85, o wfdhe aiva & fere wyrdl wrfear ot 1ot HIfT | / Calculate the effective capacitance for the

following circuit diagram.

f T 1.
CC]{[ C2 I C4
v T T

1. Cl & C2=20uF, C3 & C4 =30 pF

(a)225 uF (b) 100 pF (c) 25 uF (d) 0.01 uF
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86. UfeRiY® 3R> & IRY IR dleed ETCI (V2) &1 TUAT SIS | Calculate the voltage drop (V2)
across resistor R2.

— 1

R )

— VI R2 V2

V1=10 Volt, RI=10Q  R2=15Q
(a) 4V (b) 6V (©) 10V (d) 15V

87. faw gfde o o BIC (Lioar) DI IUAT BITI / Calceulate total current (lioar) n following circuit-

R1=100Q —L R2=20Q L R3=200Q

| |

20V DC ‘

Iloml

(a) 20 Amp (b) 10Amp (c) lTAmp (d) 70Amp

Q8. 3@ T o UeR &1 USR8l / Which kind of device is shown in the diagram-

E . .
(a) TAYIEA TifSRex NPN Transistor (b) dlodl @ SRR
B PNP Transistor
C .
(¢) &3 TuTd! TifSReR Field effect Transistor (d)erue Triac

89, YUHIT B! UGATAT / Identify the device-
(a)f&3E Diode (b) SR f&ai8 Zener Diode

Anode ‘/ Cathode ‘
(¢) Biel fg3is Photodiode  (d) eIl Il fgas Light

Emitting Diode

90. 39 UgdlAT / Identify the waveform
(a) ?6@33 Sawtooth Wave (b) EJ%‘{ER&H

1
I\ {\ [\ Traigular Wave
) ! w \] \ (c) ¥u o dd Ramp Signal Wave (d) ®d e dd
Step Function Wave

=1
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9]. ldhe & Waw(hom) I UFT BINT |/ Caleulate the total inductance (L) of the

circuit-

| Liotal L1=30 mH 12=30 mH L3=30 mH

(a) 90mH (b) 30 mH (c) OmH (¢) 27000mH

92, GYMHdd HHIG 170 &I Jed fFanurd) wHib 8- / Binary equivalent of decimal number 170
is
(a) 0111011 (b) 00100100 (c) 10101010 (d)010010100

93.(1101102=(__ )10
(a)55 (b) 554 () 45 (d) 54

94. far1 @1 Ug=IFY / Identify the bridge-
2o 2D

R1-_‘.IJ{:E\7 T
a g/j © ’7—--;: . a) TS foiel Anderson bridge b) AR
a\‘f‘g | ]____’_:__ci falST Schering bridge
;  dxe r”(id ¢) 8 faT Hay bridge d) Hagdd
C gl fadt Maxwell bridge

a) U838 8l Anderson bridge bR T fert
Schering bridge
¢) @l foef Wheatstone bridge  d) ERICRAC
Clark’s Bridge

96. 2000 =(__ )

(a) 11001000 (b)1110010 (c)1011001 (d) 10101010

97, TTABIHT SRR IRUTE .. oveeevee e Rrgid W yafd gar gl /
Transformer operateson __ principle of mutual induction.
(a}?ﬂﬁ Charle’s (b) €rae Boyel's (CJY{?{T@' Faradey's  (d) AT

Maxwell’s
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o R Loy e oo AN —— o, FRS B! 102.2 °F is equal
o G
(a) 102.2 (b)st.1 (c)204.4 (d) 39
90 PRUG R ATHH. .. ... o . a2l Absolute Zero temperature is__
o o
(a)-195 (b)-273 (6) 273 (d)-100
100. Xe @1 egiar 8 / The symbol Xc represents
(a) di@dd / Conductance (b)ﬂ’éﬁ”ﬁ wfaurd / Inductive reactance

(¢) g _yfdurd / Capacitive reactance (d) 3y / Resistance
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